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QUESTION 1

Which three statements are true concerning logical and physical database structures? (Choose three.)
A. All tablespaces may have one or more data files

B. The extents of a segment must always reside in the same datafile

C. A smallfile tablespace might be bigger than a bigfile tablespace

D. A segment can span multiple data files in some tablespaces

E. A segment\\'s blocks can be of different sizes

F. A segment might have only one extent

G. Segments can span multiple tablespaces

Correct Answer: CDF

QUESTION 2

Which two statements are true about the DUAL table? (Choose two.)

A. It can be accessed only by the SYS user

B. It consists of a single row and single column of VARCHAR?2 data type

C. It can display multiple rows but only a single column

D. It can be used to display only constants or pseudo columns

E. It can be accessed by any user who has the SELECT privilege in any schema
F. It can display multiple rows and columns

Correct Answer: BF

SQL> SELECT level, sysdate 2 FROM dual 3 CONNECT BY 4 level STOP_JOB=immediate Are you sure you wish to
stop the job ([yes]/no): yes Which two statements are true about the job? (Choose two.)

A. You can no longer monitor it

B. You can reattach to it and monitor it
C. Itis paused and can be resumed

D. It continues to run in the background

E. It terminates
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Correct Answer: BC
see the example which is done on 12c version
B. You can reattach to it and monitor it

C. Itis paused and can be resumed

QUESTION 4

You have been tasked to create a table for a banking application.

One of the columns must meet three requirements:

1.

Be stored in a format supporting date arithmetic without using conversion functions
2.

Store a loan period of up to 10 years

3.

Be used for calculating interest for the number of days the loan remains unpaid
Which data type should you use?

A. INTERVAL YEAR TO MONTH

B. INTERVAL DAY TO SECOND

C. TIMESTAMP WITH LOCAL TIMEZONE

D. TIMESTAMP

E. TIMESTAMP WITH TIMEZONE

Correct Answer: B

Since the third requirement for banking application is

\\'Be used for calculating interest for the number of days the loan remains unpaid\\'

So, Data Type WINTERVAL DAY TO SECOND\\' must be used to calculate duration in number of days.

QUESTION 5
In one of your databases, the user HR has the password HRMGR.
You want to connect to a database instance whose listener listens on port 1531 by using this statement:

CONNECT HR/HRMGR@orcl
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No name server is used.

Which statement is true about ORCL?

A. It must be the value of the SERVICE_NAMES parameter on the client side

B. It must resolve to a valid connect descriptor in the server\\'s thsnames.ora file
C. It must resolve to a valid connect descriptor in the client\\'s thsnames.ora file

D. It must be the name of the database to whose instance HR wishes to connect

E. It must be the name of the server running the database to whose instance HR wishes to connect

Correct Answer: C
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